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QUESTION 1

The SQL database and transaction logs have been physically isolated on separate RAID groups. What other actions
can be taken to optimize SQL performance?

A. Use RAID 1/0 for transaction logs only.

B. Use RAID 5 for transaction logs and tempDB.
C. Use RAID 5 for tempDB only.

D. Use RAID 1/0 for transaction logs and tempDB.

Correct Answer: D

QUESTION 2

A Storage Administrator would like to use Manual Volume Management to create file systems for their Oracle database
log files.

Which volume configuration is suitable for storing log information?
A. disk > meta

B. disk > stripe > meta

C. disk > stripe > slice > meta

D. disk > slice > stripe > meta

Correct Answer: A

QUESTION 3

You review a Perfmon log that contains several days worth of data for a customer\\'s SQL Server database LUN. The
log contains both read and write 1/0O per second collected at 3-minute intervals.

What method should you use to determine the correct I/O per second target number for calculating the number of RAID
corrected spindles?

A. 75th percentile
B. Overall Peak

C. Overall Average
D. 90th percentile

Correct Answer: D
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QUESTION 4

A customer runs Oracle using DAS. They observe intermittent Oracle performance degradation due to data hot spots on
the disks. You propose they move Oracle to an EMC VNX with RAID 1/0 LUNSs. If the customer implements the
proposed configuration, how would Oracle ASM alleviate the customer\\'s hot spots?

A. The ASM disk group will re-balance all existing Oracle objects automatically.

B. The Unisphere Agent installed on the Oracle server will re-balance all existing Oracle objects automatically.

C. ASM will re-stripe the data avoiding the target MirrorView volume hot spots.

D. ASM with Unisphere will re-stripe the data avoiding the source MirrorView volume hot spots.

Correct Answer: A

QUESTION 5

What is a factor that determines the time needed to transfer data during the initialization of RecoverPoint/ SE?
A. Storage performance

B. Number of Consistency Groups

C. Write splitter type

D. Number of replication sets

Correct Answer: A
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